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. (a) Determine the domain of the given function )= r ;1 . (5%)

(b)Find% if y=3u and w=x"—3x—2. (5%)

() Calculate j0+°° xePdx . (5%)

(d) Find lim log(“’; )logx (504

t—o0

. A commuter train carries 600 passengers each day from a suburb to a city. It now costs $10 per person to
ride the train. A study shows that 100 additional people will ride the train for each $1 reduction in fare.
What fare should be charged in order to maximize total revenue? (10%)

- Find the maximum value for function f(x)= Inx , and prove that 7° <e”. (10%)
X

. Caleulate [ [/ 22’3 ~dxdy.  (10%)
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_ pVxtlnx . .
. y=e€ , find the derivative of the function (10%)

4 N i :
. J-O e "dx , evaluate the definite integral (10%)

. Find the extreme value(s) of the function f(%,y) = xy subject to the constraint x2 + 4y2 = 4 (first and
second order conditions should be used) (10%)
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